
IMPORTANT CUSTOMER INFORMATION  

To minimise twisting and warping all Hutton garden furniture products should only be used on firm level ground.  
Softwood is a natural material which can twist and split during periods of wet/dry, hot/cold weather. If cracks do appear, it is a 
natural occurrence and not a fault with the product or material. The best way to treat this is to use a cloth and rub a little PVA wood 
glue into the crack and once dry sand the area lightly. This will not affect the treatment of the product. 

 

 Assembly Instructions 

                       DBS – Cambridge Double Bin Store 

 

 

 

 

 

 

 

 

 

 

1. Fix 1x back panel (with the overhang) to 1x side panel using 3x 60mm screws (Pic A).Repeat for the other 
side. Now screw both back sections together using 3x 60mm screws. 
 

2. Fix the pre-drilled 35mm small batten to the top of the back section connecting the two sections.(Pic B) 
 

3. Lie the bin store down on its back (taking care not to scratch it).  
 

4. To assemble the floor, start with the one tongue board at the back and continue with the remaining tongue 
and groove boards, finishing with the smaller groove board at the front. Using 4x 50mm screws, screw 
through the pre-drilled holes. (Using two screws each end). (Pic C) Now upright (2 people recommended). 
 

5. Using 3x 60mm screws, screw on the 2x 35x35mm battens to the front of each side of the bin store. Now 
screw on the 35x45mm door stop/top rail through the side battens using 2x 80mm screws. (Pic D) 
 

6. Next assemble the mid rail using 1x 80mm screw. Position the mid rail centrally to allow enough space for 
the shelf to be fitted, when in position screw down using 3x 50mm screw. (Pic E). Using the remaining 
80mm screw, screw through the top of the door stop support into upright timber. (Pic F). Position the shelf 
and screw in using 4x 60mm screws. (Optional). 
 

7. On the front of each side panel screw the 2x 70x20mm battens flush with the outside edge. Then place 
the 35x20 batten on top of these and screw in using 40mm screws provided.(Pic F) 
 

8. Screw the doors on using 12x 50mm screws, making sure there is clearance to open the door (Pic H). 
Then screw the bolt keep to the top rail in line with the bolt, making sure the bolt lines up with the keep. 
 

9. Using the 2x 390mm roof supports (which have one pilot hole), screw to either side of the bin store. 
Making sure they are able to move to support the roof sections. (Pic G)  
 

10. Place the roof sections on top. Using the 25mm screws, screw the roof to the back panels. 
 

11. Screw the handles centrally to the front of the roof section using 25mm screws. 
 

12. To help strengthen the bin store, screw on the 2 angled blocks to the front/inside corners using 60mm 
screws. 

  

List of parts and fixings---                                                         

 8 x Floor Boards    
 2 x Side Panels     
 2 x Back Panels    
 2 x Roofs 
 2 x Handles   
 2 x Doors     
 1 x Shelf      
 4 x 80mm Screws  
27 x 60mm Green Screws    
17 x 40mm Green Screws 
12 x 50mm Galv Screws  
22 x 25mm Round Head Screws  
35 x 50mm Green Screws 
 2 x 70x20mm Battens 
 1 x 35x20mm Batten 
 2 x 35x35mm Battens 
 1 x 35x45mm Door stop/top rail 
 1 x Pad bolt keep 

 
  
   

6 x 60mm Screws 
  2 x 20mm Screws 

 

  
 
 

 



 Hutton Garden and Landscaping Products 

Church Lane, Northwood Green, Westbury-on-Severn, Gloucestershire GL14 1ND www.svw2000.co.uk/hutton 

Tel: 01452 762089                Fax: 01452 760993            office@hutton-ltd.co.uk 

http://www.svw2000.co.uk/hutton


 

C. D. 

E. 

G. 

80mm 80mm 

F. 

60mm 

C. 

A. 

50mm 

Screws 

60 mm 

B. 
60 mm 

Side panel 

E. 

G. 

80 mm 

H. 

Top of door stop 

60mm 


